54 | BEEER

7= $&2E10H15 3 i fE 62.07
PO - 1EHER 2

=1 6.5 — | 2,770,633 | ¥ @& HT .3 .
T E W 60.9 | 56 409,800 | K S Hy 67.61 4 6, 502
% F T 61.1] 50 43,067 |/ B )T HF 60.5 | 61 13,052
WOl T 64.1| 16 228,887 [ M Hf 65.5| 9 6,438
moB M 61.4 | 47 269,273 | 3 R HT 68.7| 2 3,123
fig b ™ 59.51 67 26,713 1% & W7 66.9 7 9,825
ABEED 61.5.] 46 61,511 F & HT 66.3| 8 4,787
wmFE M 62.5] 31 231,316 | B I HT 62.3| 34 9,076
F EH W 59.71 64 55,450 | g Lk M 65.1| 12 5,586
A =W ] 62.61 29 25,309 | Bk W HT 63.5| 22 5,901
R W 62.3| 34 42,195 | 3% 7 62.0 38 6,139
gk W £3.9| 18 43,559 | BF % HY 63.1] 25 5,172
= g M 58.8| 170 68, 151 | ARAGHEEHT 59.2| 68 16,094
H & W 62.7| 28 22,783 | FUHJLEERT 60.8| 57 9,618
J\HTHEH 63.1] 25 16,885 | Bk My 63.2 24 11, 108
1 [Gil 64.0| 17 20,323 |1 K ET 63.6| 20 6,815
BEHS 60.6| 60 | 74,940 | 3E B # 62.6 | 29 2,370
H it} 59.71 64 147,435 | ¥ B W 65.2 | 10 5,907
B il T 55.40 179 11,885 |8 = T 63.6 | 20 7, 460
moE W 61.8| 42 126,992 | = 1o HT 68.7| 2 4,706
] 58.3| 15 65,982 | — = HT 61.9] 41 5,699
VTR 61.1] 50 73,714 {HE ROHT 61.6 | 43 4,024
E R e i) 58.41 13 57,381 | B &£ N 60.8 | 57 5,624
e o 62.2] 36 16,281 | B8 F HT 1.0 53 6,170
Bram 61.4 | 47 AT 34| & W/ HT 59.6| 66 4,012
E @EWm 62.51 31 44,880 | & B MY 59.8 | 63 5,662
g2 E W 62.0| 38 28,232 | K& E HT 58.3| 75 6, 440
] 64.8| 13 56,057 |5/ P& W] 59.21 68 4,007
o 8 T 58.5| 72 34,438 [0 78 HT 56.21 78 3,788
M 62.2| 36 25,905 | K B 60.3| 62 10, 669
N # oh 65.2| 10 25, 592 | W T 58.4| 173 8, 830
BY 15 HT 63.1] 25 14,673 | = i AT 61.0| 53 3,217
B o N 62.4| 33 20,537 | & b HT 61.3 | 49 3,448
W & J HT 58.6 | 1. 8,934 | $8 B W 61.1] 50 5,994
& H m 64.7| 14 21,2091 = F K 60.8 | 57 2,431
H B & 55.11 80 4,099 | H & HT 67.31 5 3,817
B H W 61.6 | 43 17,738+ & N7 62.0| 38 7, 486
H v M7 61.0| 53 18,621 |3t i HT | 0.0 1 3,532
A B N 63.3| 23 2,402 | f0 H HT 67.0 6 3, 540
x HT 51710 11 9,672 | RiE/NEET 63.9 18 4,560
T & 61.6 ] 43 3,718
W |- B8 SBTHETE k2 FEREE
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